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State Forest Service (Mains) Exam 2018
(Model Answer Key)

Science

Q1 : Chemical formula of Bleaching powder is :

s ol &1 Imafe g R

CaOCl,

CaOCl,

CaOCl

CaOCl

CaClO,

CaClO,

CaOCl;

D

CaOCly

Answer Key: A

Q2: Which of the following is monomer of P.V.C :

&t . 95w HTIHAD © -

Ethylene

Tfedi

Vinyl chloride

IERIENENINES]

Acrylonitrile

[UEIBIEES]

Ethylene glycol

D

D RIERGIEEA

Answer Key: B

Q3 : The chemical composition of ordinary glass can be written as follows :

YRV H1d & IAAAD W6 Bl TR foRaT S ghar g :

Na2 SiO3 . CaSiO3

.48i0,

Na2 Si03 . CaSiO3

. 4Si0,

Na, SiO3 . CaSiOj3

. 6810,

Na, SiO3 . CaSiOj

. 68i0,

Na, 0.C20. 4Si0,

Na, 0.Ca0. 4Si0,

Na2 Si03 . Ca8103

. 2810,

Na2 Si03 . CaSiO3

. 28i0,




| Answer Key: A

Q4 : Teflon is formed by polymerisation of the following monomer :

udr FUfRad Twad & IgaidRul gRISdl & :

CH2= CH2

CH,=CH,

CH,= CHCI

CH,= CHCI

CF,=CF,

CF,=CF,

C6 H5 CH:CHZ
D

Cg Hs CH=CH,

Answer Key: C

Q5 : Which of the following is amphoteric in nature ?

frafoiaa & frae! vefa Sy g 2

H,0

H>,O

HC1

HCI

NaOH

NaOH

HNO;

D

HNO;

Answer Key: A

Q6 : The element having electronic configuration [Ar] 3d®.4s% belongs to which of the following block of elements:

TS dcd BT A [T [Ar] 3d0.4s2 B, T I8 {5 scitep & Il & Tiaifird &

s — block of elements

s-&Ih dcd

p — block of elements

p-&TH

d — block of elements

d-&dTh ded

f— block of elements

D

f-scfldh 'ded

Answer Key: C

Q7 : Ores that are concentrated by Froth Flotation method are :

I8 31T, foraeT Figul th wia- fAf gRIgIaT 8 -

A | Carbonate ores




PIEMC D

Sulphide ores
B
HpIgS HgIh
Oxide ores
C v
SIHZS HUIH
Phosphate ores
D
BT D

Answer Key: B

Q8 : Neutralization reaction -

KOH,q) + HCl(aq) = KClzq)t H20 -----
is an example of which the following type of reaction :

JeriHT®Rr ffHfoar -

KOHaq) + HCl(aq) = KCl(aqy+ H20 -----

# ¥ fore gpR 1 sifiifspan @
Reversible reaction
A |Gt offtfemen
Irreversible reaction
B (e ot
Both reversible and irreversible reaction
Rl L e g
None of these
D

EREREZ ]

Answer Key: B

Q9 : Among the following elements which has more than one oxidation states:

9 adl & ¥ fra 31 ua @ o1 sifofiaor sari gt @ -

Sodium (Na)
A

TIfSTT (Na)

Magnesium (Mg)
B

TR (Mg)

Iron (Fe)
C

ET (Fe)

Aluminum (Al)
D

Ty (Al)

Answer Key: C

Q10 According to Lewis concept of acid- bases, Lewis acid are :-

T3 P 3-&R B STURUN &b IR, T3 A S -

Proton accepters

EIGERIG]

Proton donars




Uler grar

Electron pair accepters

ERESER R

Electrons pair donor

D

ENCHER AR

Answer Key: C

Q11 Galvanisation is a method of protecting iron from rusting by coating with thin layer of a metal,which of the following metal is
used for this purpose :

ed=NHRuT Uah fafty § FOord qlg &1 ST § &RUT e+ & ol 39 TR U1 &t Udel U &1 AU+ fohan ol &, Fefifea § 9
g 41 T IUANT 39 BRI & o fHar S @ -

Copper

SIE

Aluminium

TegfAfH

Zinc

fSics

Chromium

gl pcv—

Answer Key: C

Q12 what is pH of 10*M NaOH solution ?
10"*M NaOH fa@TH &1 pH A &1 8N

4

4

10

10

7

7

12
D

12

Answer Key: B

Q13 Which isotope of Hydrogen does not have neutron in the nucleus :

BIZSIoH & b TR & ftie & e T i 3 -

14!

1H!

1D?

1D?

1T3

113




D | None of these

T A DI Tl

Answer Key: A

Q14 Alkaline hydrolysis of oils and fats is called :
A T I1 BT &RIG O 3= HEAAI g -

Neutralisation

LA IRICRI

Esterification

TEHR

Polymerization

ERSICUI

Saponification

D

BIERIERY)

Answer Key: D

Q15 Which among the following is strongest acid ?

9 o P17 JeQ e yed 3 § 2

HCOOH

HCOOH

CH;COOH

CH;COOH

CH3; CH,COOH

CH; CH,COOH

CH; CH, CH, COOH
D

CH; CH, CH, COOH

Answer Key: A

Q16 Ortho and para hydrogens have:

3T 37 ORT BTR g # Bldl &:

Same physical properties but different chemical properties

T Hifdes ores R fafte rmafAes qored

Different physical properties but same chemical properties

faftr wifaes o oReg T IR T

Same physical and chemical properties

A Wit & I8 qored

Different physical and chemical properties

D

fafta 1o wd et ored

Answer Key: B

Q17 When CH3MgBr (Grignard reagent ) is made to react with formaldehyde and product is hydrolysed, then which of the following




compound is obtained :
1§ CH;MgBr (IR 3T H®) 31 Briica gss I fohal dRI1d § TuT s §3 SIS &I Saeigafed &d 8, df Feferad
Y P 1 A U gl &:

CH;CH,OH

CH;CH,0H

CH;0H

CH;0H

CH;COOH

CH;COOH

CH;CHO
D

CH;CHO

Answer Key: A

Q18 On passing CO, through an aqueous solution of Na;COj3 , the compound formed is :

NayCO; & STeitd faemH # co, T yatfed 1 WR Fufafad aifie s ars -

NaOH

NaOH

H>0,

Hy0,

NaHCO3

NaHCO3

NaZO
D

Na,O

Answer Key: C

Q19 Which among the following alloys contains Tin(Sn) as one of its constituents ?

fafefead & @ & I fyeng s fes(sn) th gew g 2

Stainless Steel

WA Wi

Brass

dad

Bronze

Cr=
Eanll

German Silver

D

ST Rrea”

Answer Key: C

Q20 The electronic configuration of 3 elements (X, Y, Z) is as follows :-
X=2,8 Y=287 Z=288.2

Which is correct statement among the following :




i T (X, Y, 2) b Saaei-e fa-ary g &:-

X=2,8 Y=287 Z=28,8.2

d Fefafed # T s aTHYT I8l 8-

X and Y both are metals

X 3R Y Y e1qu &

Y and Z both are metals

Y SR Z A Uql @

Z and X both are non metals

7 3R X 2 1T 8

Y is a non metal and Z is a metal

D

Y U 3T § 3R Z Th U1 8

Answer Key: D

Q21 Which has highest calorific value:
fhgerT SHuHig 7= Jed WeT §:

Charcoal

IRBIA

Cow dung

MR

Wood

SEaSi]

Biogas

D

CICIER|

Answer Key: D

Q22 Which is not the property of an ideal fuel:

DI T 0T TR S8 BT T8 &:

It is a pollution free fuel.

U TGVl e Se B |

It is a clean fuel.

g W3 3Y ¢

Its calorific value is lower.

TP ST A HH |

Its accidental hazards are lower.

D

TP TP TR HH ¢

Answer Key: C

Q23 which of the fallowing variety of coal contains highest percentage of carbon:

FIOA P Y UPRI 7 I foaw H1e o1 ufawrd Sifiedd giar g:

A | Bituminous




fagfer (smge) Siaen

Anthracite

TgIse

peat

Uie

Lignite

D |wroiger

Answer Key: B

Q24 Which one is non renewable source of energy:

Foll BT B Il Tid TR TdHuiy &

Hydrogen

HESISE]

Natural gas

Ui 19

Biogas

EIRIN]

Ocean

D

REES

Answer Key: B

Q25 Which particle is missing in the following nuclear reaction:
2

?Nld + zHeﬂ __...301? " R !
) ol gu AT ufafear F S W HU g &

NY¥+ Het —,0Y +...n. ?

HE
D

HE

Answer Key: D

Q26 A nuclear reactor delivers a power of 10° W . What is the amount of fuel consumed by the reactor in one hour :

T IRATY] R 100 W Rifad Ue ol g | RUdgeR T g o faramn Sem W




A |0.04¢g

0.04 JTH

0.08 g

0.08 UTH

048 g

0.48 UTH

0.96 g

D
0.96 JTH

Answer Key: A

Q27 A radioactive material has a half-life of 8 years. The activity of the material decreases to 1/8 of its original value in:

TS ST Tfghar uerd o1 g6 AW 8 I8 7 | fhd Twa 7 39 uerd ) wfhadt uRfRe gea &t 1/8 g1t

12 years

1299

24 years

24 9%

48 years

48 Y

64 years

D

64 %

Answer Key: B

Q28 The image of an object is formed by a convex lens on a screen. If lower half of the lens is painted black , the intensity of image
becomes:

TS I BT AT ST 8 GRT TS UG IR ST 5| 3R T P 1 BT ST W U GRT BTl R el o, wfaifeid o
GIEGIE SIS

Half

et

One fourth

<Y

Same

D

ag!
Twice
sl

Answer Key: B

Q29 Maximum lateral displacement of the ray of light incident on a slab of thickness t is:

TIeTs ¢ 3! e R 1 g8 Ut &1 foson &1 sifraran mif¥fes fawuro= g

t/4

t/4

B [t/3

t/3




t/2

t/2

t

D
t

Answer Key: D

Q30 The number of images of an object placed between two mirrors inclined at an angle of 45° are:

T G 45° TR Y GU S U & ot & 3t 3, 39 a¥g & fobam wfafara g1

D

(o2 B <IN BEN I BN N e XN BV 0 IV

Answer Key: C

Q31 Total internal reflection takes place if light goes from:

quf 3fidafes TRTacd SiaT § STd YehT=T STl 6:

Water to glass

O A B H

Glass to water

CIERRIRIE]

Air to glass

EIREIEE

Air to water

D

EEIGIEIE

Answer Key: B

Q32 A wire of resistance R is stretched to reduce its diameter to half of its original value, The new resistance is:

UfeRTY R & U dR $I 59 dve Y Tl [ 39T 9 YRS T J 31T 81 77| =71 UfeRlY g1:

2R

2R

4R

4R

8R

8R

16R

D

16R

Answer Key: D




Q33 The resistivity of the material depends on:

Uarel Bt gfeRieehdl R et 8

Length of the wire

IR ARSESIERC R

Diameter of the wire

TR & I W

Temperature of the wire

AR & dIHHE TR

Material of the wire

b IR & Uerf R

Answer Key: D

Q34 The surface of a spherical shell is uniformly charged. Then what is the electric field inside the spherical shell:

TP MATHR W B T8 THH U I ARG §, A MR Bt & 3R fagad & ghm:

Zero

RS

constant

R

Infinite

3d

Proportional to the distance from the center

D

P T g P AU

Answer Key: A

Q35 Five equal resistances each of resistance 3(} are connected as shown in the fallowing figure .The equivalent resistance between

the points A and E :
30 30
O—VVW-E—NWW—— AWV
A 30 an E
UTg sRTeR TRy Ud® &1 Uferly 30) 9 forsy B faramy 70 oruR 98 B 1 fog A 9UT E & g guged uferiy @
C
30 30
O—VVWE—ANWW—B A0
A 30 3n E
5
A Q
50)
8()
B
8()
100)
C
100)




D

150)

150)

Answer Key: B

Q36 A battery of emf E and internal resistance r is connected across the load R. When the current flows through the resistance R,

power is dissipated in the form of heat energy. The output power will be maximum when:

T Sedt et STATH (3 aT.aeE Td 3iidRe TRy 8, e R & 3R A Je! 21 fagad uRT o ufekiy R | TR gt
2, Afd Sy Suf & T A e gl 31 Wi &1 3ifidhan Iare- g e

R=r

R=r

R=2r

R=2r

R=73r

R=73r

D

R=4r

R=4r

Answer Key: A

Q37 An ac generator consist of a coil of 50 turns and area 2. 5m? rotating at an angular speed of 60 rad s™! in a uniform magnetic field

B=0.3 T between two fixed pole pieces the resistance of the circuit including that of the coil is 500{}. What is the maximum
current drawn from the generator:

TF TH. ST Dl sn) 50 TaHR aUl 2.5m? &THA F T 81 60 rad 57! B S0 714 T THH TWH 1T &7 B=03 T
ﬁﬁaﬁéﬁg%aﬂaﬁww%lqﬁquwu%ﬁuﬁaﬁsa(m)aﬁmmsoon 21 S iR fpa fagad
YRT :

23A

23A

45A

45A

52A

52A

D

6.5A

6.5A

Answer Key: B

Q38 A steel wire has a magnetic movement M. If the wire is bend into semicircular arc, The new magnetic movement becomes:

TP W & IR BT L&D YUl M g | 3R IR $I SefgareR a1 & A o S, @ 701 s 1g Srguf ghm:

M

M




Zm

i

Answer Key: D

Q39 An X-ray machine is operated at an accelerating voltage V volts, then the minimum wavelength of X-rays emitted from X-ray
machine is:

TR A v diee & @RUT diecs] R BT IR 6! 5, 99 Ta-X TR ¥ Iafold =gas aivreed &:

eh
Ve

eh
Ve

Ve
eh

Ve
eh

el’
hc

el
he

hc

ev
D

he
ev

Answer Key: D

Q40 Calculate the energy equivalent of 1g of substance :

TH U Uerd & JAG Sl &1 UM 8

3x1013 J

3x1013

6x1013 J

6x1013 J

9x1013 J

9x1013 J

2x1013 J
D

2x1013 J

Answer Key: C

Q41 Bile Juice is poured into the alimentary canal that is necessary for the absorption of

3R & wfad ey g genif & siaxiyor & o sfrawae §-

Na and Ca

NaQa.'Ca

Fat soluble vitamins

1 ¥ ga-=itd faerfim

C | Amino acids




S 3

Monosacchasides

gl e —

Answer Key: B

Q42 Vermiform appendix of alimentay canal is made up of

3R H fRud gHifteT eifeey forg SHae d sd 82

Digestive tissue
A

Ul SHddh

Respiratory tissue
. YD Hdldh

Excretory tissue
e

Lymphatic tissue
e em—

Answer Key: D

Q43 The most effective colour of visible light spectrum for Photosynthesis is

T U1 WaeH B U1 YL & o T gyl 7 8helr 2-

Blue
A

e

Red
B

NI

Violet
C =

ST

Green
D

el

Answer Key: B

Q44 The function of ATP in the Photosynthesis is the transfer of energy from

BT AT fobadT H T U, BT 1 St bl RIMTIRUI Hgl T Hgl HIT g

Dark reaction to light reaction

A | St siffooan & som s
Light reaction to dark reaction

P | e oo @ o ot
Chloroplast to mitochondria

© [t & mredw
Mitochondria to chloroplast

P ety & e

Answer Key: B




Q45 C4 cycle was discovered by
-4 Th BT QIS [bg A B2

Hatch-slack

ERNCT

Calvin

EESICE|

Hill

fea

Arnon

D
SR

Answer Key: A

Q46 The process of Photosynthesis is

ThT GIATUT BT Ufhar gt &-

Exothermic

CIREeRYiL]

Endothermic

3id Iuftg

Anabolic

BEINIGED

Catabolic

Dﬁazw

Answer Key: C

Q47 In the respiration of a plant, if the R.Q ( Respiratory quotient ) is 0.7, the respiratory substrate is

T el & 4T A I R.Q (YD BIWidh) 0.7 B, O 4B UTe glell 8-

Sugars

RER

Proteins

EICE]

Both (Sugars) and (Proteins)

S RN SR G

Fats/oils

Dawraa

Answer Key: D

Q48 The incomplete break down of sugar in anaerobic respiration results in the formation of

AT 4 forar o 21 & 31quf e § 4y uerd sd §-

H20 and C02

H,0 Td CO,

B | Alcohol and CO,




TdhIge Td CO,

Fructose and H,O

m@HQO

Glucose and CO,

D

TqHI T CO,

Answer Key: B

Q49 Trachea is the respiratory organ of following animal

e (et e S & &I 81 ©-

Cockroach

PIHT

Star fish

ARMEIA

Hydra

SISl

Pila

D

(elTem) Trge

Answer Key: A

Q50 Blood carries CO, mainly in which form
SR T Co, Hagd &7 FU Y 34 U H Il 5-

Hb. CO,

Hb. CO,

Hb. CO

Hb. CO

H,O

H,0

NaHCO 3
D

NaHCO;

Answer Key: D

Q51 Hamburger’s Phenomenon is related to

R ufehar 39 J G 8-

Carbonic acid shift

PIaD 3T e

Chloride shift

FIRES Rge

Hydrogen shift

HESISRARI

D | All of these




| A

Answer Key: B

Q52 Heart of man is
HIW &1 554 39 USR &1 51l &-

Cardiogenic
A

EAIRRIEIECT

Neurogenic
B g

Digenic

Myogenic
D

ERICIECY

Answer Key: D

Q53 Erythroblastosis Foetalis can occur if marriage takes place between

TRE SRS IR WeTferd e A7 3% ot H Tl g1 4 BT 8-

RH-+ve man and Rh+ve woman
A Rh+ve \31Ta'5ﬁ Qa Rh+ve Tl
Rh-ve man and Rh+woman
B Rh-ve 3ﬂ37:ﬁ Qa Rh+ve Tl
Rh+ve man and Rh-ve woman
¢ Rh+ve \’rﬂatﬁ Qa Rh-ve &l
Rh-ve man Rh-ve woman
b Rh-ve GI'IETﬁ Qa Rh-ve Tl

Answer Key: C

Q54 Genu and Splenium are associaled with

i vd Wiy 39§ eifia -

Cerebrum
A

IfeH

Cerebellum
B

EIRCNE

Medulla
C §

Vermis
D

gftg

Answer Key: A

Q55 The cavity of mid brain is known as

Heg TSP B 75T 1 39 AT § ST &Il 5-




A | Iter
Diocoel
B
SN
Metacoel
C
TR
Haemocoel
D
ML

Answer Key: A

Q56 Cells of Islets of Langerhans in Pancreas that are responsible for secretion of glucagon hormone are

3= B Ry SRe=g giftietal & | b SIRIe1all gRT W@t 8T &1 Haul g1 -

Alpha
A

Telhl

Beta
B

ster

Gamma
C

TMHT

Delta
D :

Answer Key: A

Q57 A man that takes large amount of protein in his diet, is likely to excrete more amount of-

S 3Tt U= HieH | 3Hf¥s | H I U8 HRdl & | 98 IHId: 39 Ui &1 3if¥ih Igoi- Bl 8-

Urea
A g

Uric acid
B

IRP 3T

Sugar
C :

All of these
D

Tt gel ®

Answer Key: A

Q58 Mendel did not recognize the linkage in his experiment because

THed U~ TN H TgorrdT 1 TS et B Uil aifeh-

He did not have powerful microscope

b UTH THTdT YEHGRT BT (41T Ul

He studied only pure plants

I Had Y& el WR & & o

C | There were many chromosome to handle




I TURE &1 ST 9gd D ot

Characters he studied were located on different chromosome

D

I oI AEfOT BT 376 faam 3 SIerT ST TORE W Ry &

Answer Key: D

Q59 Ifa fertilized egg of plant has 40 chromosomes, the number of chromosome present in the pollen mother cells is

T U Ui & FIRFerd 31 H 40 TURE UTT ST © Y RO HIq PIIebTSA H TURE b1 I Bt 8-

20
A

20

40
B

40

80
C

80

60
D

60

Answer Key: B

Q60 An Octamer of 4 histones complexed with DNA is know as

4 UPR & (g BT TR ST Y s Head -

Centrosome
A

i ;E; A

Mesosome
B

e

Nucleosome
C

Endosome
P [oerdm

Answer Key: C

Q61 Expanded form of NIC is :
NIC P faeiRd &0 &:

Network Information centre
* [Seah vt i

National Information centre
5 e SIBIAR YR

National Informatics centre
¢ g SpIHfCH Her

Network Informatics centre
P [Seah swiieas dex

Answer Key: C




Q62 Super computer, developed by TATA Group, Pune (India ) in November 2007 is :
7T TG YOt (MIRA) §RT TdeR 2007 H fass g fama a1 guR Srgex &

Eka

Eka

Cka

Cka

CDAC

CDAC

None of these

P maas

Answer Key: A

Q63 210 Byte is equal to :
210 e R &:

1 MB

1 MB

1 KB

1 KB

1 GB

1 GB

1 TB

D
1 TB

Answer Key: B

Q64 Which of the following is a first Generation Computer Language?

o 7 § B v R Y HrgeR I Re

Assembly language

ST HTST

Machine language

TR HToT

High level language

3= X HIYT

None of these

D

EREREI ]

Answer Key: B

Q65 Which of the following is a web browser?

A Y P IT TR &2

Netscape

Jepy

B | Safari

IHRY




Opera

SR

D

All of these

T4 O gt

Answer Key: D

Q66 Which of the following is not a chat engine?

9§ A P91 I So TR 22

Yahoo Messenger

g TR

Google Talk

DUGKACY

Rediff Bol

NELaEIS|

D

ARP

ARP

Answer Key: D

Q67 First Web browser is :

UYH 39 STIoR o

Mosaic

BIIECS

Internet Explorer

AT TR

Netscape Navigator

EEEE KU

D

None of these

T A DI

Answer Key: A

Q68 Broad band is a convergence Technology for :

sisde SfaRu Ui e & fau @:

Voice, Video and data

@, ST ek 31T

Only Data

FHad slel

Only Voice

Fad

D

Only Video

FHad arrsal

Answer Key: A




Q69 E-Commerce, € — learning, ¢ — banking are:

$IAY, 3o, 3ol &:

e- services
N
Internet services
P oo o
User services
© g riw
Business services
P e Jard

Answer Key: A

Q70 The first modern telecommunication device was:

TYUH 3MYfTeh GRETR FUHRUT AT :

Telephone

aefipA

Telegraph

TURIT®

Computer

PHIRXR

Television

Dé?ﬁiﬁx—ﬂ

Answer Key: B

Q71 ISDN is telecommunication technology for :

ISDN QREAR Weifiiat fg & fee 8

Voice
A e
Data
B
SIcT
Video
© [qrea
All of these
P e

Answer Key: D

Q72 Hardware is :

BISA &:

A | Tangible Equipment

IRAdD IJUDHRI




In-Tangible equipment

3-ARAADH DRI

Set of Instructions

e &1 3e

Operating System

waﬁr

Answer Key: A

Q73 Digitization is a process to convert any data into:

feforergorr felt +f ueR & STer &1 e & ¥ forers uRkafida a3 1 ufsban &:

Binary Digit

CIFENISIE

Octal Number

3ffded T

Hexadecimal Number

RERISIBERREC )

None of these

D

T A DI e

Answer Key: A

Q74 Which of these is compression technology for transmission of video?

5 7 4 D1 FHIRE deie difed) Ivur & few g2

JPG

JPG

PDF

PDF

MPEG

MPEG

None of these

D

EREEEI ]

Answer Key: C

Q75 Which of the following is a Computer Network Topology?

5 B Q H1-91 HTLR Aedd rarel 82

BUS

BUS

CAR

CAR

Triangle

EEC

D | None of these




| e e

Answer Key: A

Q76 A full duplex modem can transmit data :

T quf gWiad ATSH STeT GaiRd o Uahdl 3

Only in one direction
A [raa v R
In both directions but only in one direction at a time
P [ et o oot G v & vt 0 e &
In both directions simultaneously
¢ T 1Y S fammai
All of these
P [erami

Answer Key: C

Q77 Inradio, television and cell phone information is sent in the form of :

&, RIS SR et B § a1 e FU H of St 8

Cathode rays
A oot e
Electric signals
? [
Light
C
UhIRI
Electromagnetic waves
” [P

Answer Key: D

Q78 Expanded form of URL is :
JIRUA 1 fawaiRd ®U &:

Uniform Research Limited

g ferd oS

Uniform Resource Locator

gAwH AR} didbeR

Uniline Resource Labs

PENIERATSISA

Uniform Research Locator

D

gAwIH RO dldex

Answer Key: B

Q79 Modem speed is measured in :

AISH B! T1f AT S @




A | Gbps

Eiciles|

Tbps

crediTg

Kbps

FHardey

Pbps

P e

Answer Key: C

Q80 CERN (European Centre for Nuclear Research) started www in the year-

WEIRTT (@R TBT U™ B5) H www 59 avf 7 IR= fhar m

1989

1989

1988

1988

1990

1990

1987
D

1987

Answer Key: A

Q81 The term Biodiversity was coined by?

TSI aRicT Wea BT UANT FauyH fora fam

G. Rosen

S, 99

M. Calvin

Y. o

Mendel

Hsd

Hymen L.H

D

BIRHT TA.TE

Answer Key: A

Q82 Edaphic factor is related with?
P USIhd SRS [y I gd 5

Wind

ag

Soil

e

C [Rainfall




aui

D

Temperature

di

Answer Key: B

Q83 The following is an Environmental planning organization?

g 7 3 o 91 wafaRu g 916 82

CSIR

It T 31T 3R

NEERI

T3 $ 3R 375 (R

ICMR

3MS A TH 3R

D

ICAR

S W TR

Answer Key: B

Q84 MAB stands for-

TH.US BT 31 8-

Man and Biosphere

RRERCIEIEREL

Man, Antibiotics and Bacterium

I, UfRefe Td Sitarg

Mayer, Anderson, Bishop

D

Man and biotic community

Y U9 Sifds Iger

Answer Key: A

Q85 Acid rain is caused due to-

3wty auf 39 9 gt &-

SOZ and N02

SO, & NO,

CO and CO,

CO & CO,

CO and SO3

CO & SO;

D

Ozone and dust

31T Td §a

Answer Key: A




Q86 Which Pigment in the skin of human beings protects the body from U.V radiation of Sun?

a1 B U 191 g0l T Bt IR faferor @ s=mar g2

Haemoglobin

HEILSIICE|

Chlorophyll

FARIMA

Melanin

Hef

Thyroxine

D

JIENCHIE]

Answer Key: C

Q87 Which pollutant is present in Cigarette smoke?

AT & 4t § PN UGS UL 91 52

NO,

NO,

Hb

Hb

Cco

Cco

All of these

D

94 O gt

Answer Key: C

Q88 Smallpox, cholera, T.B and dysentery diseases are caused by-

P, goll, .. 3R X T P HRUT 8-

Air pollution

arg gewur

Land pollution

HaTuguu

Water pollution

oI et UgHuT

None of these

D

T A IS e

Answer Key: C

Q89 The number of species in a single community of an area is known as-

T R R U T UTY 9 aTelt TSIl & TR &l Hed &-

Alpha diversity

T fafaerar

B | Beta diversity




sier fafaear

Gamma diversity

T fafaerr

Delta diversity

b St fafgean

Answer Key: A

Q90 According to a report of Zoological survey of India (ZSI) of 2011, in India how many animals are critically in endangered in
India?

ST d d 3t 33T (zS1) F 2011 & Ufdde" & AR YR H ford- Svg Ibeuwd Suft & 82

96

96

76

76

66

66

56
D

56

Answer Key: D

Q91 Rio +20 Earth Summit was held on-

T +20 Gt SIS 9 SR gafl-

June 20-22,2012

S 20-22,2012

May 02-11,2011

HS 02-11,2011

May 02-11,2010

TS 02-11,2010

June 20-22,2014

D
S 20-22,2014

Answer Key: A

Q92 According to a report of CPCB (Central Pollution Control Board) Which state has highest SO, value?

SR UGNUT a0 1€ & U Ufdded & SR ¥ 9 § S0, &t AT qad 1 82

Jharkhand

ARITS

Andhra Pradesh

TR TSR

Delhi

feeedt

D [Rajasthan




Rl

Answer Key: A

Q93 BOD stands for-
&t oft S 3ref 3-

Biological Oxygen demand
A o sieion feare
Biological Oxidation demand
B | e sifaiee s
Biochemical Oxygen demand
e —————
Biochemical Oxygen derivative
P st sifeion Srarea

Answer Key: C

Q94 A grass land having Scattered trees is known as-

oY T He Sei gaf fer §U UIe o §, Heeidl o-

Plains

Prairies
B

PR

Pampas
C

qurg

Savannah
D

qadT

Answer Key: D

Q95 The best example of plant raised under social forestry programme is-

I aTe! & SFiid Iae fbd T U1 &1 G IaTeR B-

Acacia nilotica
A | sl Preffea
Acacia megaxylon
B | spferan et
Ficus religosa
Rl P
Mangifera indica
b Hrittexr S

Answer Key: A

Q96 In the presence of sun light, the oxides of nitrogen and hydrocarbons combine to form-

T4 & Ut B SRR F AZCIoH Ud BTESIbIe- b GG & 398 A Faferiad e o1 Fafor g 8-




A | Ethyl alcohol

YIS 3Mehlgd

Ammonium Nitrate

Ay 8¢

Peroxyacetyl Nitrate

WeffRfuReEd A5

Nitric acid

D
Tefed o

Answer Key: C

Q97 Which gas was liberated during Union carbide factory accident at Bhopal in 1984?

HIoTd B T 1984 T T Hrafss & HREM H gU fawhle T Sl 19 &7 Iaqol- g

Methyl iso cyanate

ERIEGRCIER I RS EE T

SO, +NO,

SO, + NO,

NO, + CO, + CO

N02 + C02 +CO

Methyl Nitric acid

D

e g el

Answer Key: A

Q98 Which is an indicator organism for water contamination?

et UGHUT & foQ T Sl Yeb itd &1 dRg B el 82

Escherichia coli

TR Hieh

Entamoeba coli

TeHieT dieht

Plasmodium

WHISTH

Fasciola

P [ oofdren

Answer Key: A

Q99 Name the Bacterium that consumes azo dyes present in effluent of Textile and dye industries -

HUS T 17 I & gUeUe B Y 3l I b1 U1 A a1l STy BT A @ -

Escherichia coli

TR Hieh

Pseudomonas

BSEILIRIE]

C | Streptococcus




R CaCa|

~

Acetobactor liquifaciens

D

TReISaeR bR

Answer Key: D

Q100 Who is known as Indian father of ecology?

YRt TafaRor fag & o & -

Ramdeo Misra

M < d s

Ramdev Baba

REECEIC)l

C.N.Rao

{.EA. 39

H.G. Khurana

D

T, Sl GRAT

Answer Key: A




